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I . Choose and fill in each blank with the proper
one of the prepositions given below. (0,5 mark
each) '

(to, at, instead of, from, of, with, on, among, be-
iween, because of, about, for, into, with regard to,

over)

1. The findings are far satisfactory.

2. We shall divide the work us research
workers.

3. The rainy season in that country varies
3—4 months.

4. They have never heard such an inven-
tion.

5., We must pay attention thelatest devel-

opment of the situation.

. The newly-installed control computer will

soon be put_____ use.

. The news which I am going to tell you

is rather serious.



8.

9.

10.

The engineer seemed fo know what the sign
stood,

The machine tool went out of control
mishandling.

Don’t be satisfied - what you have
achieved.

I. Fill in each blank with the proper form of the
verb in bracket. (1 mark each except the 'seventh
which is 2)

1.

2.

3.

4.

Those who'd like to visit the exhibition_ . -

(sign) your names here.

A great number of small power stations
(set up) in their county since libera—

tion.

He asked me whether my brother____ ___ (fly)

to Beijing. )

He fell asleep immediately last night; he must
(be) very tired.

“Have you moved into the new flaty”

“Not yet. The rooms (paint).”

The director recommended that she - -

(study) more English before going abroad.

. The teacher told them since light __

{iravel) faster than sound, lightning __
{appear) to go before thunder.
How long they (dig) the ditch?




9.

He refused to tell us whether he_ (un-
dertake) the job.

I . Fill in each blank with the proper verbal form
(infinitive, participle and gerund) of the verb in
bracket. (1,5 mark each)

1.

2.

Matter is the name (give) to everything
which has weight and occupies space.

I shall never forget (meet) late Premier
Zhou during his inspection of our factory.

I wonder if he could get it___-___ _(do) before
tomorrow.

4, Night (fall), we hurried home.
5. A beam of light will not bend round corners

10.

unless (make) to do so with the help
of a reflecting device.
We were busy ___ (get) things ready for
the trial production when he phoned us.
Some molecules are large enough (see)
under the electronic microscope.
The floor does not look so bad when
(sweep) clean.

(fail) several times, they need some
encouragement.

(catch) in the rain, he was wet to the
skin.



W . Choose and circle the one among the 4 answers
given (A, B, C, D) which best completes the sen~
tence. (1 mark each) For example:

L]

1.

2.

He me that he decided to leave on
Monday.

A. spoke B. said C. talked (D.) told

This test____ a number of multiple choice
questions.

A. composes of  B. composes in

C. consists of D. consists in

She writes as as her sister.

A. clear B. more clear

C. clearly D. most clearly

3. 1 prefer this diagram that one.

A. than B. more than
C. rather than D. to

4. I have been studying here for four years, by

next summer 1 .
A. shall graduate B. shall be graduated
C. shall be graduating D. shall have graduated

5. Hardly had he finished his speech __the

audience started cheering.
A. and B. when
C. than D. as

6. I wish you like that,

4

A. don’t talk B. won't talk
C. wouldn’t talk D. not to talk




7.

10.

11,

12,

13,

Only when you have obtained sufficient data
come to a sound conelusion.

A. can you B. would you
C. you will D. you can
I found to answer all the questions

within the time given.

A. no possibility

B. there was impossibility

C. impossible

D. it impossible

You_ go now. It’s getting late,

A. contracts B. reduces

C. condenses  D. compresses

Hot metal - as it grows cooler.
A. contracts B. reduces

C. condenses  D. compresses

Wood does not conduct electricity; _ -

A. so doesn’t rubber  B. also doesn’t rubber
C. nor does rubber D. nor rubber does
Comrade Li be in Beijing because I

'saw him in town only a few minutes ago.

A. mustn’t B. can’t

C. may not D. isn’t able io

I know it isn’t important but I can’t help
. ______about i

A, but to think B. thinking

C. think D. to think



14,

15,

The more we looked at the picture, .
A. the less we liked it  B. we like it less
C. better we liked it D. it looked better
To succeed in a scientific research project

A. one needs to be persistent

B. persistence is needed

C. one needs be a persistent person
D. persistence is what one needs

. Identify and circle the one among the 4 underlined
parts (A, B, C, D) which is wrong. (1 mark each)
For example:

[ 4
.

It is very kind of you to supply me with so
A B C
many informations. S
(D) ' -

1. Never before has so many people in our coun-

B

try bz22n interested in athletic sports.
D

2. Those of us who work in that chemical plant

A B C
should have their lungs X-rayed.
D

3, After the traffic accident he laid in bed for

A B
two weeks, waiting for his wound fo heal,
c D



4. We advice him to give up smoking and do a
A B C

lot of exercises.

6. The principal reason for the great number of
A B

smoke is that there are too many factories in
C D

the city.

Y . Translate the following into English. (3 marks each
except the first which is 2)
1, K—R¥H LI R R,
2. BENTER, PEARBUEXNR 0 HEELE.
3. RITBARERTCEH BRE.
4, XTHRERNTPNBFEL,
5. B L=, FRERAAREFAEHER T

BRI,

6. RIVERBEIESIETBARZERG —F T
£,

7. BRENAR, REMMSEXHRCESTHE
;o 8

Y. Translate the following passage into Chinese.
(30 marks)

Between now and the end of the century,

there will be many exciting developments and also

many difficult problems to deal with. Perhaps the

. 7 o



most urgent problem is to provide haps the most
‘urgent problem is to provide enough food. The
world’s population is expected to reach 7,000 mil-
lion by the year 2000, but already scientists have
produced new and better varieties of wheat and
rice and animal. They have also been experimenting
with techniques of cultivating plants by using mix-
tures of chemical compounds and water only, and
then there will be no need forordinary soil. An-
other problem which the world will face is to get
rid of refuse (BE}}) . One solution is to burn re-
fuse at very high temperatures in incinerators (3%
L5y . A development of this, which may prove
very useful in the future, is to use these inciner—
ators to generate steam power. In fact, any new
source of energy will be very welcome, as there
is already a shortage of petroleum. To solve the
energy problem, scientists will probably also try
to make more use of solar energy.

‘The possible effects of some scientific fields,
such as lasers and cryogenics (fER%) , are dif-
ficult to imagine and both already have a number
of uses. The super-cooling effects of the cryoge~
nics which convert liquid helium ( A% ) and
other gaées into “super-fluids” and metals into “su-
perconductors”, making them non-resistant to ele-
ctricity, cculd change the world in a number of




ways. The laser, with its beam of strong light, can
drill a hole in a diamond, and yet can be so well
controlled that it can be used in delicate eye op-
erations. The question is whether it will be most
used for peaceful purposes or as a deadly wea-
pon.

But perhaps the most remarkable developments
will occur in space flight. One of the diffcul-
ties in the past;has been the high cost, but now
the space shuttle is being developed, and can be
used a large number of times instead of only
once. Already man has been to the moon. Perhaps
by the end of the century he will have had a
close-up view of Venus (£ &) or Mars (X&) .

ANSWER KEY

from 2, among 3, between 4, of

to 6. to/into 7. aboul 8, for
because of 1¢. with

sign 2. have been set up 3, had flown
have been 5, are being painted 6, study
iravels, appears 8. have...been digging
would undertake

given 2, meecling 3, done 4, falling
made 6, geilting 7, to be seen 8, swept
Having failed
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. 1.C 2. C 3.D 4.D 5 B ¢, C
7.A g, D 9, C 10,.A 11,C 12, B
13. B 14, A 15 A

v. 1. A 2.D 3, B 4, A 5 B

VI. 1. Please turn off the switch (switch off) as soon

as the water boils.

2. The Chinese people will forge ahead (march
on, march onward, march forward) with
greater strides in the 1980’s.

3. We all agree to the decision Comrade Li has
made (made).

4, The result is much (far) better than we expec-

ted.

During the past three years a lot (of work)

has been done in the recovery (restoration) of

our national economy. (in recovering our na-
tional economy, in restoring our national eco-

(&2}
.

nomy).

6. We use English as a tool in learning Western
advanced science and technology.

7. Tt is impossible to accomplish (carry out, fulfil,
materialize) the socialist modernization of our
country (our socialist modernization) without
the leadership of the Party.

M. (&HFO
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I . In each question, decide which of the five choices
given would most suitably complete the sentence.
Circle the letter before your choice. Only one
choice is to be marked. (14 points)

EXAMPLE:
The guests said that they wouldn’t mind_____ ¢
A. to have a little light music
(B.) having a little light music
C. have a little light music
D. if they have a little light music
E. that they have a little light music
1, She has been working in this factory_ .
A. after 1968 B. in 1968
C. since 1968 D. for 1968
E. until 1968
2. We can’t understand why he avoided ____
to us.
A, to speak B. speech
C. having spoken  D. speaking
E. to have spoken

» 12 »




